N of reco track vs dxy(PV) N of associated (recoToSim) tracks vs dxy(PV) N of associated (recoToSim) looper tracks vs dxy(PV)

10? 10°

10~

107
1.05 :
osf--:
0%E=26-15-10 5 0 5 10 15 20 25 T e TV 3 0%5=26-15-10 5 0 5 10 15 20 25 O5=565-15-10 5 0 5 10 15 20 25
—— DQM_TT__mkFit-DQM_original
[Nofresowackvsd —— DQM_TT___mkFit-DQM_modified3 —

—1—0004—20020 "=1-0.8-

il

Fy SUUR PR DU TUUE DU U U SUN SON
1 -1-0.8-0.60.40.2 0 0.20.4 0.6 0.8

dlil 1]

|

‘.

i \
4020 0.2

i
[l T

il

N of reco track vs dz(PV) N of associated (recoToSim) tracks vs dz(PV) | N of associated (recoToSim) looper tracks vs dz(PV)

R—

10

107}

10°

1072E

10

T T ¥ T T

x=- A [ SR - R R R S
°%35 20 -10 0 10 20 30 B0 =20 <10 0 10 20 30
N of associated (recoToSim) tracks vs dz(PV) | N of associated (recoToSim) looper tracks vs dz(PV)

102k

10"

1
SR DU SRS SR
i ; : : :
-1 -0.5 0 0.5 1



	Contents
	Page 1


